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1)

Question Stimulus :­

Fill in the blank with the correct option.

I often think that I ______ studied medicine not pharmacy.

cannot have

ought to have

could not have

may not have

Correct Answer :­ought to have 

2)

Question Stimulus :­

Fill in the blank with the correct option.

Peter _______ have practiced a lot. His performance was amazing.

may

can

could

must

Correct Answer :­must 

3)

Question Stimulus :­

Fill in the blank with the correct option.

I _______ speak both English and Chinese fluently.

can



could

may

must

Correct Answer :­can 

4)

Question Stimulus :­

Fill in the blank with the correct option.

The concert had to be called ____because the singer met with an accident last night.

off

on

for

out

Correct Answer :­off 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

With an umbrella _____ my head, I was able to protect myself from the scorching heat
of the Sun.

over

across

under

beneath

Correct Answer :­over 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.



Her books and clothes were packed _____ chests and shipped across to Canada.

into

from

for

above

Correct Answer :­into 

7)

Question Stimulus :­

Fill in the blank with the correct prepositions.

The four friends shared the packet _____biscuits ____themselves.

of, between

of, among

off, between

of, across

Correct Answer :­of, among 

8)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

Which is the more beautiful of the two sisters?

Which is more beautiful of the two sisters?

Who is more beautiful of the two sisters?

Who is the most beautiful of the two sisters?

Correct Answer :­Which is the more beautiful of the two sisters? 

9)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The Liver is

the largest organ

of human body.

No Error

Correct Answer :­The Liver is 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A journey

by the road is

very comfortable.

No Error

Correct Answer :­by the road is 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Japanese has became one of the most popular courses

at the university since the Asian studies

programme was established.

No Error

Correct Answer :­Japanese has became one of the most popular courses 

12)



12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

There has been

many earthquakes

in California in the past one decade.

No Error

Correct Answer :­There has been 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

She has talked to several specialists about her problem,

but nobody know

why she is sick.

No Error

Correct Answer :­but nobody know 

14)

Question Stimulus :­

Out of the given options, choose the one which is the correct direct speech of the
sentence given below.

My teacher often says to me that if I don't work hard I shall fail.

My teacher often says to me, “If you didn't work hard, you shall fail.”

My teacher often says to me, “If you don't work hard, you will fail.”

My teacher often says to me, “If you doesn't work hard, you will fail.”

My teacher often said to me, “If you don't work hard, you will fail.”



Correct Answer :­My teacher often says to me, “If you don't work hard, you will fail.” 

15)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

They said, “we were enjoying the weather.”

They said that they were enjoying the weather.

They said that they had enjoyed the weather.

They said that they have been enjoying the weather.

They said that they had been enjoying the weather.

Correct Answer :­They said that they had been enjoying the weather. 

16)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Jonathan said, “I bought a pair of socks yesterday”.

Jonathan said that he bought a pair of socks yesterday.

Jonathan said that he bought a pair of socks the day before.

Jonathan said that he had bought a pair of socks yesterday.

Jonathan said that he had bought a pair of socks the day before.

Correct Answer :­Jonathan said that he had bought a pair of socks the day before. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Are candles made by her?

Has she made candles?



Is she making candles?

Does she make candles?

Are the candles being made by her?

Correct Answer :­Does she make candles? 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Had I completed the assignment?

Had the assignment been completed by me?

Have the assignment been completed by me?

Was the assignment completed by me?

Was the assignment being completed by me?

Correct Answer :­Had the assignment been completed by me? 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

They laughed at the joker.

The Joker has been laughed at by them.

The Joker had been laughed at by them.

The Joker was being laughed at by them.

The Joker was laughed at by them.

Correct Answer :­The Joker was laughed at by them. 

20)

Question Stimulus :­



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you want to stay healthy,

you could exercise

on a regular basis.

No Error

Correct Answer :­you could exercise 

21)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you had studied harder,

you would have

pass the test.

No Error

Correct Answer :­pass the test. 

22)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you do not know him,

you must not

open the door.

No Error

Correct Answer :­No Error 

23)



23)

Question Stimulus :­

Fill in the blank with the correct option.

If you can't fit all the bags in your car, I can take ____in mine.

few

a few

the few

a little

Correct Answer :­a few 

24)

Question Stimulus :­

Fill in the blank with the correct option.

Lots of people at the club are under 20, but there are quite ____who aren't.

a little

little

a few

few

Correct Answer :­a few 

25)

Question Stimulus :­

Fill in the blank with the correct option.

The celebrations began _____ earlier than expected.

little

a little

the little

few



Correct Answer :­a little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following
questions.

Blogs, online versions of personal diaries, have been a craze for quite sometime
now. Some of us, before the Internet age, used to maintain a small diary to jot
down random thoughts, reflections, sayings, poems, and other such stuff. Their
online versions, however, are much more than that.

The biggest difference between a blog and a personal diary is that while the
latter was a very private affair accessible not even to family members, a blog  is
a public account, In fact the whole world connected to the internet gets to read
its contents if they come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions, opinions and personal
life in full public glory, we are revealing a part of our private life. We are giving
outsiders, strangers, friends, colleagues, and relatives a full view of what’s
happening inside us, something we would hesitate to do in real life. Once
blogging begins, it’s difficult to control, and we end up sharing our  personal
thoughts and emotions that we would otherwise have kept to ourselves. The
blog entices us, and we fall to be bait. Blogs don’t preserve our anonymity.
They let us publish our pictures, professional and personal details, physical
address and locations, etc. The biggest precaution to be observed therefore is
to think twice before publishing anything, and ask oneself if one would like to
make such matters public. The blog readers try to judge us, understand us, get
information about us, and take pleasure while peeping into our private lives
without realising it.

 

What is the major difference between a blog and a personal diary?

It is a mandatory to write a blog these days, while writing a personal diary is
prohibited.

A blog is contemporary, modern and in vogue, while a personal diary is an old and
rotten way of expression.

A personal diary was restricted only to oneself while a blog account is open to
anyone who has an access to internet.

None of the above

Correct Answer :­A personal diary was restricted only to oneself while a blog account
is open to anyone who has an access to internet. 

27)



Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following
questions.

Blogs, online versions of personal diaries, have been a craze for quite sometime
now. Some of us, before the Internet age, used to maintain a small diary to jot
down random thoughts, reflections, sayings, poems, and other such stuff. Their
online versions, however, are much more than that.

The biggest difference between a blog and a personal diary is that while the
latter was a very private affair accessible not even to family members, a blog  is
a public account, In fact the whole world connected to the internet gets to read
its contents if they come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions, opinions and personal
life in full public glory, we are revealing a part of our private life. We are giving
outsiders, strangers, friends, colleagues, and relatives a full view of what’s
happening inside us, something we would hesitate to do in real life. Once
blogging begins, it’s difficult to control, and we end up sharing our  personal
thoughts and emotions that we would otherwise have kept to ourselves. The
blog entices us, and we fall to be bait. Blogs don’t preserve our anonymity.
They let us publish our pictures, professional and personal details, physical
address and locations, etc. The biggest precaution to be observed therefore is
to think twice before publishing anything, and ask oneself if one would like to
make such matters public. The blog readers try to judge us, understand us, get
information about us, and take pleasure while peeping into our private lives
without realising it.

 

What would be the most appropriate title for the given passage?

A style and means expression

A modern means of communication

Blogs its uses and misuses

None of the above

Correct Answer :­Blogs its uses and misuses 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following
questions.

Blogs, online versions of personal diaries, have been a craze for quite sometime
now. Some of us, before the Internet age, used to maintain a small diary to jot



down random thoughts, reflections, sayings, poems, and other such stuff. Their
online versions, however, are much more than that.

The biggest difference between a blog and a personal diary is that while the
latter was a very private affair accessible not even to family members, a blog  is
a public account, In fact the whole world connected to the internet gets to read
its contents if they come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions, opinions and personal
life in full public glory, we are revealing a part of our private life. We are giving
outsiders, strangers, friends, colleagues, and relatives a full view of what’s
happening inside us, something we would hesitate to do in real life. Once
blogging begins, it’s difficult to control, and we end up sharing our  personal
thoughts and emotions that we would otherwise have kept to ourselves. The
blog entices us, and we fall to be bait. Blogs don’t preserve our anonymity.
They let us publish our pictures, professional and personal details, physical
address and locations, etc. The biggest precaution to be observed therefore is
to think twice before publishing anything, and ask oneself if one would like to
make such matters public. The blog readers try to judge us, understand us, get
information about us, and take pleasure while peeping into our private lives
without realising it.

 

What is the biggest drawback of maintaining a blog?

A person’s writing skill deteriorates

It is highly expensive to maintain a blog

A person’s anonymity is no longer maintained and every aspect of one’s life is
revealed to a limitless number of people

None of the above

Correct Answer :­A person’s anonymity is no longer maintained and every aspect of
one’s life is revealed to a limitless number of people 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following
questions.

Blogs, online versions of personal diaries, have been a craze for quite sometime
now. Some of us, before the Internet age, used to maintain a small diary to jot
down random thoughts, reflections, sayings, poems, and other such stuff. Their
online versions, however, are much more than that.

The biggest difference between a blog and a personal diary is that while the
latter was a very private affair accessible not even to family members, a blog  is
a public account, In fact the whole world connected to the internet gets to read



its contents if they come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions, opinions and personal
life in full public glory, we are revealing a part of our private life. We are giving
outsiders, strangers, friends, colleagues, and relatives a full view of what’s
happening inside us, something we would hesitate to do in real life. Once
blogging begins, it’s difficult to control, and we end up sharing our  personal
thoughts and emotions that we would otherwise have kept to ourselves. The
blog entices us, and we fall to be bait. Blogs don’t preserve our anonymity.
They let us publish our pictures, professional and personal details, physical
address and locations, etc. The biggest precaution to be observed therefore is
to think twice before publishing anything, and ask oneself if one would like to
make such matters public. The blog readers try to judge us, understand us, get
information about us, and take pleasure while peeping into our private lives
without realising it.

 

What does the word ‘entice’ mean?

Attract

Repel

Disgust

None of the above

Correct Answer :­Attract 

30)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and answer the following
questions.

Blogs, online versions of personal diaries, have been a craze for quite sometime
now. Some of us, before the Internet age, used to maintain a small diary to jot
down random thoughts, reflections, sayings, poems, and other such stuff. Their
online versions, however, are much more than that.

The biggest difference between a blog and a personal diary is that while the
latter was a very private affair accessible not even to family members, a blog  is
a public account, In fact the whole world connected to the internet gets to read
its contents if they come across it. What blogger should keep in mind while
blogging is that by displaying our thoughts, emotions, opinions and personal
life in full public glory, we are revealing a part of our private life. We are giving
outsiders, strangers, friends, colleagues, and relatives a full view of what’s
happening inside us, something we would hesitate to do in real life. Once
blogging begins, it’s difficult to control, and we end up sharing our  personal
thoughts and emotions that we would otherwise have kept to ourselves. The



blog entices us, and we fall to be bait. Blogs don’t preserve our anonymity.
They let us publish our pictures, professional and personal details, physical
address and locations, etc. The biggest precaution to be observed therefore is
to think twice before publishing anything, and ask oneself if one would like to
make such matters public. The blog readers try to judge us, understand us, get
information about us, and take pleasure while peeping into our private lives
without realising it.

 

What does the author mean by the line ‘peeping into our private lives’?

Staring at someone

Entering the threshold of one’s house

Getting to know the personal happenings of one’s lives

None of the above

Correct Answer :­Getting to know the personal happenings of one’s lives 

Topic:­ Hindi
1)

Question Stimulus :­

िनꄁꀁिल戠खत ग�ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा तो म翾瓾 दगं रह गया। भगवान की लीला भी िविच᠟ ह,ै साहसी, आ쐋िव䨈䤈 वासी और
जीवट �भाव के  िवकलागं तो हम㿽 हत옟똟भ बना दते ेह翾瓾। समाज म㿽 कुछ  िवकलागं तो अपन ेहिथयार डाल दते ेह翾瓾 तथा  दूसरो ंके 옟똟ित
आि樠帠त रहकर जीवन जीत ेह翾瓾। कभी व ेमिंदर के सामन,े कभी 씆쐆शेन के पास या िकसी सावἸ쩰जिनक 倈伈थान पर मागँन ेके िलए धरना
िदए बठैे रहत ेह翾瓾। हम㿽 चािहए िक हम उ㿽 अपन ेपरैो ंपर खड़ ेहोन ेके िलए 옟똟∪े舐रत कर㿽। उ㿽 �ावलबंी बनान ेके िलए हर सभंव 옟똟यास
कर㿽 और उ㿽 अ埬�ा जीवन जीन ेका मागἸ쩰 सझुाएँ।

 

उपयἸु쩰┠� ग�ाशं का उिचत शीषἸ쩰क दीिजए?

आ쐋िव䨈䤈 वास

�ावलबंन

आि樠帠त जीवन

साहस और समाज

Correct Answer :­�ावलबंन 

2)



Question Stimulus :­

िनꄁꀁिल戠खत ग�ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा तो म翾瓾 दगं रह गया। भगवान की लीला भी िविच᠟ ह,ै साहसी, आ쐋िव䨈䤈 वासी और
जीवट �भाव के  िवकलागं तो हम㿽 हत옟똟भ बना दते ेह翾瓾। समाज म㿽 कुछ  िवकलागं तो अपन ेहिथयार डाल दते ेह翾瓾 तथा  दूसरो ंके 옟똟ित
आि樠帠त रहकर जीवन जीत ेह翾瓾। कभी व ेमिंदर के सामन,े कभी 씆쐆शेन के पास या िकसी सावἸ쩰जिनक 倈伈थान पर मागँन ेके िलए धरना
िदए बठैे रहत ेह翾瓾। हम㿽 चािहए िक हम उ㿽 अपन ेपरैो ंपर खड़ ेहोन ेके िलए 옟똟∪े舐रत कर㿽। उ㿽 �ावलबंी बनान ेके िलए हर सभंव 옟똟यास
कर㿽 और उ㿽 अ埬�ा जीवन जीन ेका मागἸ쩰 सझुाएँ।

 

कुछ िवकलागं कहा­ँकहा ँधरना िदय ेबठैे रहत ेह翾瓾?

मिंदर के सामने

씆쐆शेन के पास

सावἸ쩰जिनक 倈伈थान पर

उपयἸु쩰┠� सभी

Correct Answer :­उपयἸु쩰┠� सभी 

3)

Question Stimulus :­

िनꄁꀁिल戠खत ग�ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा तो म翾瓾 दगं रह गया। भगवान की लीला भी िविच᠟ ह,ै साहसी, आ쐋िव䨈䤈 वासी और
जीवट �भाव के  िवकलागं तो हम㿽 हत옟똟भ बना दते ेह翾瓾। समाज म㿽 कुछ  िवकलागं तो अपन ेहिथयार डाल दते ेह翾瓾 तथा  दूसरो ंके 옟똟ित
आि樠帠त रहकर जीवन जीत ेह翾瓾। कभी व ेमिंदर के सामन,े कभी 씆쐆शेन के पास या िकसी सावἸ쩰जिनक 倈伈थान पर मागँन ेके िलए धरना
िदए बठैे रहत ेह翾瓾। हम㿽 चािहए िक हम उ㿽 अपन ेपरैो ंपर खड़ ेहोन ेके िलए 옟똟∪े舐रत कर㿽। उ㿽 �ावलबंी बनान ेके िलए हर सभंव 옟똟यास
कर㿽 और उ㿽 अ埬�ा जीवन जीन ेका मागἸ쩰 सझुाएँ।

 

हम िवकलागंो ंके िलए 쐥밥ा कर सकत ेह翾瓾?

आ쐋िनभἸ쩰र होन ेके िलए 옟똟∪े舐रत कर सकत ेह翾瓾

पसै ेद ेसकत ेह翾瓾

परेशान कर सकत ेह翾瓾

इनम㿽 स ेकोई नहीं

Correct Answer :­आ쐋िनभἸ쩰र होन ेके िलए 옟똟∪े舐रत कर सकत ेह翾瓾 



4)

Question Stimulus :­

िनꄁꀁिल戠खत ग�ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा तो म翾瓾 दगं रह गया। भगवान की लीला भी िविच᠟ ह,ै साहसी, आ쐋िव䨈䤈 वासी और
जीवट �भाव के  िवकलागं तो हम㿽 हत옟똟भ बना दते ेह翾瓾। समाज म㿽 कुछ  िवकलागं तो अपन ेहिथयार डाल दते ेह翾瓾 तथा  दूसरो ंके 옟똟ित
आि樠帠त रहकर जीवन जीत ेह翾瓾। कभी व ेमिंदर के सामन,े कभी 씆쐆शेन के पास या िकसी सावἸ쩰जिनक 倈伈थान पर मागँन ेके िलए धरना
िदए बठैे रहत ेह翾瓾। हम㿽 चािहए िक हम उ㿽 अपन ेपरैो ंपर खड़ ेहोन ेके िलए 옟똟∪े舐रत कर㿽। उ㿽 �ावलबंी बनान ेके िलए हर सभंव 옟똟यास
कर㿽 और उ㿽 अ埬�ा जीवन जीन ेका मागἸ쩰 सझुाएँ।

 

कौन स ेिवकलागं हम㿽 हत옟똟भ बना दते ेह翾瓾?

साहसी

जीवट

आ쐋िव䨈䤈 वासी

उपयἸु쩰┠� तीनों

Correct Answer :­उपयἸु쩰┠� तीनो ं

5)

Question Stimulus :­

िनꄁꀁिल戠खत ग�ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा तो म翾瓾 दगं रह गया। भगवान की लीला भी िविच᠟ ह,ै साहसी, आ쐋िव䨈䤈 वासी और
जीवट �भाव के  िवकलागं तो हम㿽 हत옟똟भ बना दते ेह翾瓾। समाज म㿽 कुछ  िवकलागं तो अपन ेहिथयार डाल दते ेह翾瓾 तथा  दूसरो ंके 옟똟ित
आि樠帠त रहकर जीवन जीत ेह翾瓾। कभी व ेमिंदर के सामन,े कभी 씆쐆शेन के पास या िकसी सावἸ쩰जिनक 倈伈थान पर मागँन ेके िलए धरना
िदए बठैे रहत ेह翾瓾। हम㿽 चािहए िक हम उ㿽 अपन ेपरैो ंपर खड़ ेहोन ेके िलए 옟똟∪े舐रत कर㿽। उ㿽 �ावलबंी बनान ेके िलए हर सभंव 옟똟यास
कर㿽 और उ㿽 अ埬�ा जीवन जीन ेका मागἸ쩰 सझुाएँ।

 

म翾瓾न ेएक िवकलागं बालक को परै स ेिलखत ेदखेा, तो दगं रह गया। िनꄁꀁ पं戠┠� म㿽 कौन­सा वा쐥밥 ह ै?

िम樠帠 वा쐥밥

सयं┠ु� वा쐥밥

साधारण वा쐥밥

इनम㿽 स ेकोई नहीं



Correct Answer :­िम樠帠 वा쐥밥 

6)

Question Stimulus :­

िनꄁꀁिल戠खत का퀁켁ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

उभरी नसोवंाल ेहाथ

िघस ेनाखनूो ंवाल ेहाथ

पीपल के प吋 ेस ेनय­ेनय ेहाथ

जहूी की डाल स ेखशुबदूार हाथ

गदं ेकट ेिपट ेहाथ

ज स ेफट े贅褅य ेहाथ

खशुब ूरचत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

यही ंइस गली म㿽 बनती ह翾瓾

म뜁ु똁 की मश퀅鄅र अगरबि吋याँ

इी ंगदं ेमहु切豈ो ंके गदं ेलोग

बनात ेह ैकेवड़ा गलुाब खस और रातरानी

अगरबि吋याँ

दिुनया की सारी गदंगी के बीच

दिुनया की सारी खशुबू

रचत ेरहत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

 

‘पीपल के प吋 ेस ेहाथ’ सकंेत करत ेह翾瓾­

यवुतीयो ंकी ओर

िच᠟कारो ंकी ओर

बालमजदूरो ंकी ओर

िश뀀꼀कारो ंकी ओर



Correct Answer :­बालमजदूरो ंकी ओर 

7)

Question Stimulus :­

िनꄁꀁिल戠खत का퀁켁ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

उभरी नसोवंाल ेहाथ

िघस ेनाखनूो ंवाल ेहाथ

पीपल के प吋 ेस ेनय­ेनय ेहाथ

जहूी की डाल स ेखशुबदूार हाथ

गदं ेकट ेिपट ेहाथ

ज स ेफट े贅褅य ेहाथ

खशुब ूरचत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

यही ंइस गली म㿽 बनती ह翾瓾

म뜁ु똁 की मश퀅鄅र अगरबि吋याँ

इी ंगदं ेमहु切豈ो ंके गदं ेलोग

बनात ेह ैकेवड़ा गलुाब खस और रातरानी

अगरबि吋याँ

दिुनया की सारी गदंगी के बीच

दिुनया की सारी खशुबू

रचत ेरहत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

 

मजदूरो ंके जीवन की िवडबंना ह­ै

सतत ्प∪舐र樠帠म का उिचत फल 옟똟ा관였 न होना।

अभाव व कꄆꀆ म㿽 रहकर समाज को सिुवधाएँ दनेा।

प∪舐र樠帠म का उिचत फल 옟똟ा관였 होना।

आल팆툆 व िन戠鼆鸆यता के कारण गरीबी।



Correct Answer :­अभाव व कꄆꀆ म㿽 रहकर समाज को सिुवधाएँ दनेा। 

8)

Question Stimulus :­

िनꄁꀁिल戠खत का퀁켁ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

उभरी नसोवंाल ेहाथ

िघस ेनाखनूो ंवाल ेहाथ

पीपल के प吋 ेस ेनय­ेनय ेहाथ

जहूी की डाल स ेखशुबदूार हाथ

गदं ेकट ेिपट ेहाथ

ज स ेफट े贅褅य ेहाथ

खशुब ूरचत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

यही ंइस गली म㿽 बनती ह翾瓾

म뜁ु똁 की मश퀅鄅र अगरबि吋याँ

इी ंगदं ेमहु切豈ो ंके गदं ेलोग

बनात ेह ैकेवड़ा गलुाब खस और रातरानी

अगरबि吋याँ

दिुनया की सारी गदंगी के बीच

दिुनया की सारी खशुबू

रचत ेरहत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

 

िविभ謀踀 옟똟कार की खशुबदूार अगरबि吋या ँबनती ह翾瓾­

बड़ी­बड़ी ब戠윆옆यो ंम㿽

बड़­ेबड़ ेकारखानो ंम㿽

शहर के म� बस ेसाफ महु切豈ो ंम㿽

गदं ेमहु切豈ो ंम㿽



Correct Answer :­गदं ेमहु切豈ो ंम㿽 

9)

Question Stimulus :­

िनꄁꀁिल戠खत का퀁켁ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

उभरी नसोवंाल ेहाथ

िघस ेनाखनूो ंवाल ेहाथ

पीपल के प吋 ेस ेनय­ेनय ेहाथ

जहूी की डाल स ेखशुबदूार हाथ

गदं ेकट ेिपट ेहाथ

ज स ेफट े贅褅य ेहाथ

खशुब ूरचत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

यही ंइस गली म㿽 बनती ह翾瓾

म뜁ु똁 की मश퀅鄅र अगरबि吋याँ

इी ंगदं ेमहु切豈ो ंके गदं ेलोग

बनात ेह ैकेवड़ा गलुाब खस और रातरानी

अगरबि吋याँ

दिुनया की सारी गदंगी के बीच

दिुनया की सारी खशुबू

रचत ेरहत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

 

का퀁켁ाशं का मु उ�錆े鈆 ह­ै

अगरब吋ी िनमाἸ쩰ण के िवषय म㿽 बताना

गदं ेमहु切豈ो ंके िवषय म㿽 बताना

सामािजक िवषमताओ ंको उजागर करना

िविभ謀踀 옟똟कार की अगरबि吋यो ंके िवषय म㿽 बताना



Correct Answer :­सामािजक िवषमताओ ंको उजागर करना 

10)

Question Stimulus :­

िनꄁꀁिल戠खत का퀁켁ाशं को �ानपवूἸ쩰क पढ़कर उनके नीच ेिदय ेगय ेब贅褅िवक뀀꼀ी 옟똟䨈䤈 नो ंम㿽 सही िवक뀀꼀 का चयन कर㿽।

 

उभरी नसोवंाल ेहाथ

िघस ेनाखनूो ंवाल ेहाथ

पीपल के प吋 ेस ेनय­ेनय ेहाथ

जहूी की डाल स ेखशुबदूार हाथ

गदं ेकट ेिपट ेहाथ

ज स ेफट े贅褅य ेहाथ

खशुब ूरचत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

यही ंइस गली म㿽 बनती ह翾瓾

म뜁ु똁 की मश퀅鄅र अगरबि吋याँ

इी ंगदं ेमहु切豈ो ंके गदं ेलोग

बनात ेह ैकेवड़ा गलुाब खस और रातरानी

अगरबि吋याँ

दिुनया की सारी गदंगी के बीच

दिुनया की सारी खशुबू

रचत ेरहत ेह翾瓾 हाथ

खशुब ूरचत ेह翾瓾 हाथ।

 

मश퀅鄅र श砀 का मानक िहदंी श砀 ह­ै

옟똟िस�

옟똟चिलत

महेनतकश

उपरो┠� सभी



Correct Answer :­옟똟िस� 

11)

Question Stimulus :­

‘‘दःु’’ उपसगἸ쩰 िकस श砀 म㿽 नही ंह­ै

दगुἸ쩰म

दबुἸ쩰ल

दिुदἸ쩰न

दलुारा

Correct Answer :­दलुारा 

12)

Question Stimulus :­

‘‘옟똟तीᜮ怬ा’’ श砀 म㿽 옟똟य┠ु� उपसगἸ쩰 ह­ै

옟똟

옟똟ित

옟똟ती

옟똟त

Correct Answer :­옟똟ित 

13)

Question Stimulus :­

‘‘राꄆꀆ㳻㛻ीय’’ शᤋ᠋ द म㿽 옟똟य┠ु� 옟똟옋�य ह­ै

इक

ईय

इय

इत

Correct Answer :­ईय 

14)



14)

Question Stimulus :­

कतἸ쩰퀁켁’ शᤋ᠋ द उदाहरण ह­ै

त퀁켁 옟똟옋�य का

영씁प 옟똟옋�य का

अनीयर 옟똟옋�य का

इनम㿽 स ेकोई नहीं

Correct Answer :­त퀁켁 옟똟옋�य का 

15)

Question Stimulus :­

‘जान के लाल ेपड़ना’ महुावरे का सही अथἸ쩰 ह­ै

�य ंको सकंट म ेडालना

ग꜁ꘁीर सकंट म㿽 होना

सकंट टलना

मसुीबत म㿽 गजुारा करना

Correct Answer :­ग꜁ꘁीर सकंट म㿽 होना 

16)

Question Stimulus :­

‘आखँ का नीर ढल जाना’ महुावरे का सही अथἸ쩰 ह­ै

मरत ेसमय आसँ ूबहाना

िनलἸ쩰诞 हो जाना

िन瀰�ािहत होना

िन꼆긆भ होना

Correct Answer :­िनलἸ쩰诞 हो जाना 

17)

Question Stimulus :­



‘नानी के आग ेनिनहाल की बात㿽’ महुावरे का सही अथἸ쩰 ह­ै

अ㏞䃞ानी 퀁켁戠┠� के आग े㏞䃞ान की बात㿽 करना

अनभुवी 퀁켁戠┠� के आग ेबवेकूफी की बात㿽 करना

अिधक ㏞䃞ान वाल ेके आग ेअपन े㏞䃞ान की शखेी मारना

नानी के पास जाकर अपनी मा ँकी िशकायत करना

Correct Answer :­अिधक ㏞䃞ान वाल ेके आग ेअपन े㏞䃞ान की शखेी मारना 

18)

Question Stimulus :­

िदय ेगय ेवा쐥밥ाशं के िलए एक शᤋ᠋ द का 옟똟योग कीिजए­

 ‘सभी अगं सामन ेआन ेपर ⁐ၐꄆꀆ हो जाना’

옟똟옋�ᜮ怬दश쇻䓻

पारदश쇻䓻

ह윆옆ामलक

ह윆옆ालाघव

Correct Answer :­ह윆옆ामलक 

19)

Question Stimulus :­

िनꄁꀁ पं戠┠�यो ंम㿽 कौन­सा छंद ह­ै

‘‘साईँ इस ससंार म㿽, मतलब को 퀁켁वहार।

जब लग पसैा गाठँ म㿽, तब लग ताको यार।।’’

दोहा

सोरठा

चौपाई

कुꨅ�िलया

Correct Answer :­दोहा 

20)



Question Stimulus :­

अपन ेस ेछोटो के िलए प᠟ िलखत ेसमय सꌁꈁोधन होगा­

樠帠�ये

पू

आय댆ु눆ान

िवनीत

Correct Answer :­आय댆ु눆ान 

21)

Question Stimulus :­

िनꄁꀁ म㿽 स ेश�ु वतἸ쩰नी का चयन कीिजए­

∪舐रजता

उ�रण

ऊ�

इ꜆ꘆ

Correct Answer :­उ�रण 

22)

Question Stimulus :­

िनꄁꀁ म㿽 स ेअश�ु वतἸ쩰नी का चयन कीिजए­

आचायἸ쩰

अवगणु

इꄆꀆ

उद्घोस

Correct Answer :­उद्घोस 

23)

Question Stimulus :­

आधिुनक दवेनागरी का 옟똟ाचीन 瀰प ह­ै



खरो꜆ꘆी

ा謁訁ी

क謀踀ौज़ी

够借िवड़

Correct Answer :­ा謁訁ी 

24)

Question Stimulus :­

िबहारी भाषा िकस भाषा स ेअिधक सबंधं रखती ह­ै

बाẰंسा भाषा

ज भाषा

अविध भाषा

छ吋ीसगढ़ी भाषा

Correct Answer :­बाẰंسा भाषा 

25)

Question Stimulus :­

िनꄁꀁ म㿽 स े‘अिल’ का पयाἸ쩰यवाची नही ंह­ै

मधपु

िविध

मधकुर

ሠ मर

Correct Answer :­िविध 

26)

Question Stimulus :­

‘महेि옟똟य’ िनꄁꀁ म㿽 स ेिकसका पयाἸ쩰यवाची ह­ै

मयरू



महीप

मघे

ग瀰ण

Correct Answer :­मयरू 

27)

Question Stimulus :­

‘अटारी’ का त�म शᤋ᠋ द ह­ै

अ뫞�ािलका

अट∪舐रया

अटाला

इनम㿽 स ेकोई नहीं

Correct Answer :­अ뫞�ािलका 

28)

Question Stimulus :­

‘िवꄆꀆा’ का त�व शᤋ᠋ द ह­ै

खीर

भीख

बीट

भीट

Correct Answer :­बीट 

29)

Question Stimulus :­

‘िक謀踀र’ का सिंध िव埬�दे ह­ै

िक+नर

िक謀踀+अर



िकन+नर

िकम+्नर

Correct Answer :­िकम+्नर 

30)

Question Stimulus :­

‘उ诞वल’ का सिंध िव埬�दे ह­ै

उत+्जवल

उत+्�ल

उत+्जल

उत+�ल

Correct Answer :­उत+्�ल 

31)

Question Stimulus :­

अ옋�뀀꼀 म㿽 कौन­सी सिंध ह ै?

यण सिंध

िवसगἸ쩰 सिंध

व戠� सिंध

दीघἸ쩰 सिंध

Correct Answer :­यण सिंध 

32)

Question Stimulus :­

िनꄁꀁ वा쐥밥ाशंो ंको उिचत 漀�म म㿽 퀁켁व戠倈伈थत कीिजए­

(य) वह िकसी की परवाह भी न करती थी

(र) लोगो ंन ेउसके ऊपर

(ल) पर उसका मन साफ था और

(व) अनके 옟똟कार के लाछँन भी लगाय।े



व ल य र

ल य र व

य र व ल

र व ल य

Correct Answer :­र व ल य 

33)

Question Stimulus :­

िनꄁꀁ िल戠खत 6 वा쐥밥ाशंो ंम㿽 옟똟थम व अिंतम िनि⨁त ह翾瓾, शषे को उिचत 漀�म म㿽 퀁켁व戠倈伈थत कीिजए­

(1) गावँ और जगंलो ंम㿽

(य) लोक कथाओ ंम㿽

(र) �छंद ज लने ेवाले

(ल) मानवीय स묆ंृ먆ित का 

(व) लोक­गीतो ंऔर

(6) अिमत भडंार भरा ह।ै

व य ल र

य ल र व

र व य ल

ल र व य

Correct Answer :­र व य ल 

34)

Question Stimulus :­

“पतू कपतू तो 쐥밥ा धन सचंय। पतू सपतू तो 쐥밥ा धन सचंय।।” इस पं戠┠� म㿽 कौन सा अलंकार ह?ै

छेकान옟ु똟ास

व옋�ान옟ु똟ास

लाटान옟ु똟ास



樠帠옋ु�ान옟ु똟ास

Correct Answer :­लाटान옟ु똟ास 

35)

Question Stimulus :­

िनꄁꀁ पं戠┠�यो ंम㿽 कौन सा अलंकार ह?ै

मरेो मन अनत कहा ंसखु पाव ै।

जसै ेउिड़ जहाज को पᜮं怬ी िफरी जहाज प ैआव।े।

瀰पक

उपमा

अपयो戠┠�

उ�ᜮे怬ा

Correct Answer :­उपमा 

36)

Question Stimulus :­

िनꄁꀁ म㿽 स㿽 अश�ु वा쐥밥 छािँटए­

मझुस ेआम खाया गया।

म翾瓾न ेआम खाया।

म翾瓾 आम खाया गया।

म翾瓾 आम खाता 퀅鄅।ँ

Correct Answer :­म翾瓾 आम खाया गया। 

37)

Question Stimulus :­

िनꄁꀁ म㿽 स㿽 अश�ु वा쐥밥 छािँटए­

म翾瓾 सबुह ज숁섁ी 忰�ान करता 퀅鄅।ँ

म翾瓾 सबुह ज숁섁ी 忰�ान लतेा 퀅鄅।ँ

म翾瓾न ेसबुह ज숁섁ी 忰�ान कर िलया था।



म翾瓾न े忰�ान कर िलया ह।ै

Correct Answer :­म翾瓾 सबुह ज숁섁ी 忰�ान लतेा 퀅鄅।ँ 

38)

Question Stimulus :­

िनꄁꀁ ग�ाशं का सᜮं怬पेण कीिजए­

हम㿽 अपन ेसाधनो ंके अनसुार ही खचἸ쩰 करन ेचािहए। िजतनी चादर हो, उतन ेही पावँ फैलान ेचािहए। यह उपदशे इसिलए िदया जाता है
쐥밥ोिंक मन딆ु洄 के पास एक ऐसा िच吋 ह ैजो असीम ह।ै उसके पास कोई सीमा नही◌ं ह।ै मन딆ु洄 की इिं够借या ँतो ज숁섁ी ही थक जाती ह翾瓾,
िकंत ुमन कभी नही ंथकता। मन म㿽 सदा चचंलता और लालच भरी रहती ह।ै कोई पश ुपटे भर खान ेके बाद कुछ संꀈह नही ंकरता।
शरे भी भखूा होन ेपर ही िशकार करता ह,ै वरना वह पशओु ंपर आ漀�मण नही ंकरता।

तते ेपावँ पसा∪舐रए जतेी लाबंी सौर

भारतीय िकसान

राꄆꀆ㳻㛻 िनमाἸ쩰ण म㿽 यवुको ंका योगदान

उपयἸु쩰┠� सभी

Correct Answer :­तते ेपावँ पसा∪舐रए जतेी लाबंी सौर 

39)

Question Stimulus :­

इनम㿽 स ेकौन­सा िवक뀀꼀 बाकी तीनो ंिवक뀀꼀ो ंस ेपरूी तरह अलग ह?ै

अरबी

आलू

बगैन

अदरक

Correct Answer :­बगैन 

40)

Question Stimulus :­

िनꄁꀁ म㿽 स े‘अधर’ शᤋ᠋ द का अनकेाथ쇻䓻 शᤋ᠋ द ह­ै

अज

अᜮ怬त



अतं∪舐रᜮ怬

अखडं

Correct Answer :­अतं∪舐रᜮ怬 

41)

Question Stimulus :­

‘भौितक’ के िलए िवलोम शᤋ᠋ द होगा­

옟똟भौितक

आ�ा戠쐋क

कृि᠟म

इनम㿽 स ेकोई नहीं

Correct Answer :­आ�ा戠쐋क 

42)

Question Stimulus :­

‘옟똟स謀踀’ का िवलोम इनम㿽 स ेनही ंह­ै

अ옟똟सम

अ옟똟स謀踀

戠ख謀踀

दखुी

Correct Answer :­अ옟똟सम 

43)

Question Stimulus :­

जब दो श砀ो ंम㿽 एक साथἸ쩰क और दूसरा िनरथἸ쩰क हो तब वहा ँलगाया जाता ह­ै

योजक िच� ह

िवꁐ遐यािद बोधक िच� ह

अ뀀꼀िवराम िच� ह



अधἸ쩰िवराम िच� ह

Correct Answer :­योजक िच� ह 

44)

Question Stimulus :­

आधिुनक यगु म㿽 कृ꤆꠆ायन नामक महाका퀁켁 िकसके 쀋븋ारा रिचत ह­ै

쀋븋ा∪舐रका 옟똟साद िम樠帠

जयशकंर 옟똟साद

अयो�ा옟똟साद ह∪舐रऔध

सभु够借ाकुमारी चहैान

Correct Answer :­쀋븋ा∪舐रका 옟똟साद िम樠帠 

45)

Question Stimulus :­

केवल किव की अनभुिूत का साधारणीकरण मानन ेवाल ेिव쀋븋ान ह翾瓾­

अिभनव ग관ु였

आचायἸ쩰 श켥ु쨥

डॉ. नग踍े

इनम㿽 स ेकोई नहीं

Correct Answer :­डॉ. नग踍े 

46)

Question Stimulus :­

रस के अनसुार, अपꁐ遐ार ह­ै

एक 옟똟कार का उपमान, िजसम㿽 उपमये की हयेता िस� की जाती है

सचंारी भाव का एक 옟똟कार

आधिुनक रसाचायꀀ  쀋븋ारा खोजा गया एक रस

का퀁켁 म㿽 एक 옟똟कार का दोष



Correct Answer :­सचंारी भाव का एक 옟똟कार 

47)

Question Stimulus :­

‘‘आध­ेअधरूे’’ रचना के रचनाकार ह翾瓾­

जगदीशच够借 माथरु

गोिव� ब切豈भ पꃀ�

मोहन राकेश

ल袧ឧीनारायण िम樠帠

Correct Answer :­मोहन राकेश 

48)

Question Stimulus :­

‘‘फणी䨈䤈 वरनाथ रेण’ु’ िकसके लखेक ह翾瓾?

गबन

मलैा आचंल

गीताजंिल

कामायनी

Correct Answer :­मलैा आचंल 

49)

Question Stimulus :­

जयाजी 옟똟ताप प᠟(वतἸ쩰मान म� 옟똟दशे सदंशे) 쐥밥ो ं옟똟िस� ह ै?

म.옟똟. का पहला सा관였ािहक प᠟ है

म.옟똟. का पहला दिैनक प᠟ है

म.옟똟. का पहला पखवाड़ा प᠟ है

म.옟똟. का पहली पखवाड़ा पु戠윆옆का है

Correct Answer :­म.옟똟. का पहला सा관였ािहक प᠟ ह ै

50)



50)

Question Stimulus :­

िनꄁꀁ पहलेी के सही उ吋र का चयन कीिजए­

‘‘कालई गाय, काटा खाय, पाणी दखेी िबचकी जाय।’’

िबिछया

पायल

जतूा

मोजा

Correct Answer :­जतूा 

51)

Question Stimulus :­

िनꄁꀁ पहलेी के सही उ吋र का चयन कीिजए­

‘‘चादँ सा मखुड़ा सब तन जी, िबना परै वह चलता ह।ै

सबका 촀찀ारा राज दलुारा, साल­साल म㿽 बढ़ता ह।ै’’

चादँ

मखुड़ा

पसैा

प᠟ु

Correct Answer :­पसैा 

52)

Question Stimulus :­

‘樠帠�ा’ का श�ु वतἸ쩰नी िव䨈䤈 लषेण होगा­

श ्+ र् + अ + द् + ध + आ

श ्+ र् + अ + द् + ध ्+ अ

श ्+ र् + अ + द् + ध ्+ आ

樠帠 + अ + द + ध ्+ आ



Correct Answer :­श ्+ र् + अ + द् + ध ्+ आ 

53)

Question Stimulus :­

퀁켁जंन वण긂娂 के िवषय म㿽 कौन­सा कथन उपय┠ु� नही ंह?ै

퀁켁जंन वण긂娂 के उ㣬럠ारण म㿽 वाय ुमुँह के िविभ謀踀 भागो ंस ेघषἸ쩰ण करती 贅褅ई िनकलती ह।ै

퀁켁जंन वण긂娂 को मा᠟ा सिहत िलखा जाता ह।ै

퀁켁जंन वण긂娂 का उ㣬럠ारण �त᠟ं 瀰प स ेिकया जा सकता ह।ै

अपन ेमलू 瀰प म㿽 퀁켁जंन वणἸ쩰 हलतं के साथ िलख ेजात ेह翾瓾।

Correct Answer :­퀁켁जंन वण긂娂 का उ㣬럠ारण �त᠟ं 瀰प स ेिकया जा सकता ह।ै 

54)

Question Stimulus :­

‘‘आरती­आि吋Ἰ쩰’’ श砀­य翫ु� का सही अथἸ쩰­भदे होगा­

 

धपू, दीप आिद 쀋븋ारा पजून­दःुख

दःुख­दीपक

दीपक­धपू, दीप आिद 쀋븋ारा पजून

सखु­दःुख

Correct Answer :­धपू, दीप आिद 쀋븋ारा पजून­दःुख 

55)

Question Stimulus :­

िनꄁꀁ म㿽 स ेकोई एक य翫ु� समो㣬럠ा∪舐रत नही ंह,ै चयन कीिजए­

कुमार­कु謁訁ार

कड़ाई­कढ़ाई

करकट­कचरा

कमल­कंबल



Correct Answer :­करकट­कचरा 

56)

Question Stimulus :­

िनꄁꀁ म㿽 स े‘‘अ瀐怐दुय’’ शᤋ᠋ द के समानाथ쇻䓻 शᤋ᠋ द का चयन कीिजए­

उ�ान

पतन

प∪舐रवतἸ쩰न

इनम㿽 स ेकोई नहीं

Correct Answer :­उ�ान 

57)

Question Stimulus :­

िनꄁꀁिल戠खत वा쐥밥 म㿽 स ेरेखािंकत शᤋ᠋ द के समानाथ쇻䓻 शᤋ᠋ द का चयन कीिजए­

‘‘ई䨈䤈 वर मानव का सजृन करके वदंनीय हो गया।’’

ज

पदैावार

िनमाἸ쩰ण

उ�ि吋

Correct Answer :­िनमाἸ쩰ण 

58)

Question Stimulus :­

‘옟똟मेोपासक’ शᤋ᠋ द िकस समास का उदाहरण ह?ै

त�ु瀰ष समास

쀋븋�쀋븋 समास

ब贅褅ीिह समास

अ퀁켁यीभाव समास



Correct Answer :­त�ु瀰ष समास 

59)

Question Stimulus :­

‘‘..............’’ समास म㿽 सम윆옆 पद के दोनो ंपद 옟똟धान होत ेह翾瓾।

ब贅褅ीिह समास

कमἸ쩰धाराय समास

त�ु瀰ष समास

쀋븋�쀋븋 समास

Correct Answer :­쀋븋�쀋븋 समास 

60)

Question Stimulus :­

ब贅褅ीिह समास का भदे ह?ै

퀁켁ितहार

अिधकरण

अपादान

समाहार

Correct Answer :­퀁켁ितहार 

61)

Question Stimulus :­

िनꄁꀁ वा쐥밥ो म㿽 स㿽 भाव वाⳣ쳫 का चयन कीिजए ­

मझुस ेचला नही ंजाता।

व ेगा नही सकत।े

आइय,े चल㿽।

अब चलत ेह翾瓾।

Correct Answer :­मझुस ेचला नही ंजाता। 

62)



62)

Question Stimulus :­

िनꄁꀁ वा쐥밥ो म㿽 स㿽 कतἸृ쩰 वाⳣ쳫 का चयन कीिजए­

अब चलत ेह翾瓾।

आइय,े चल㿽।

उपयἸु쩰┠� दोनों

इनम㿽 स ेकोई नहीं

Correct Answer :­उपयἸु쩰┠� दोनो ं

63)

Question Stimulus :­

‘िल戠खत सचूना’ का अꀈजेी पयाἸ쩰य ह­ै

Notice in writing

Writing up letter

Order

Affidavit

Correct Answer :­Notice in writing 

64)

Question Stimulus :­

‘Toe the line’ का अनवुाद ह?ै

अनसनुा करना

अनसुरण करना

उपयἸु쩰┠� दोनो

इनम㿽 स ेकोई नहीं

Correct Answer :­अनसुरण करना 

65)

Question Stimulus :­



“िजसन ेगꤐा खोदा वही िगरेगा” – वा쐥밥 म㿽 सवἸ쩰नाम का 옟똟कार पहचािहय­े

िनज वाचक

सꌁꈁधं वाचक

िन⨁य वाचक

अिन⨁य वाचक

Correct Answer :­सꌁꈁधं वाचक 

66)

Question Stimulus :­

स㏞ं䃞ा के 옟똟मखु भदे िकतन ेहोत ेह翾瓾?

दो

तीन

चार

पाचँ

Correct Answer :­तीन 

67)

Question Stimulus :­

‘गय ेथ ेरोजा छुड़ान,े नमाज गल ेपड़ी’ लोको戠┠� का 쐥밥ा अथἸ쩰 ह?ै

मु戠⤁⠁ल म㿽 पड़ जाना

कꄆꀆ प贅褅चँाना

गरीब हो जाना

उपकार करन ेके बदल े�य ंको दखु भोगना पड़ा

Correct Answer :­उपकार करन ेके बदल े�य ंको दखु भोगना पड़ा 

68)

Question Stimulus :­

‘चहू ेके चाम स ेनगाड़ ेनही ंमढ़ ेजात’े लोको戠┠� का 쐥밥ा अथἸ쩰 ह?ै

कंजसूी करना



सीिमत साधनो ंस ेकाम चलाना

छोट ेहोकर बड़ा काम करना

सीिमत साधनो ंस ेबड़ ेकाम नही ंहोते

Correct Answer :­सीिमत साधनो ंस ेबड़ ेकाम नही ंहोत े

69)

Question Stimulus :­

खड़ी बोली का 옟똟योग सबस ेपहल ेिकस प윆ु옆क म㿽 िकया गया­

भ戠┠�सागर

सखुसागर

का퀁켁सागर

옟똟मेसागर

Correct Answer :­옟똟मेसागर 

70)

Question Stimulus :­

सरूदास के का퀁켁 िकस भाषा म㿽 ह?ै

मिैथली

अविध

बुंदलेी

जभाषा

Correct Answer :­जभाषा 

Topic:­ General Knowledge 
1)

Question Stimulus :­

‘White Revolution’ in India is related to– / भारत म㿽 '␅順ते 漀�ािंत' इसस ेसबंिंधत ह:ै

Rice Production / चावल उ�ादन

Milk Production / द）ु
 उ�ादन



Sugar Production / चीनी उ�ादन

Oil Production / तले उ�ादन

Correct Answer :­Milk Production / द）ु
 उ�ादन 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below: : नीच ेिदए गए
कूटो ंके आधार पर सही उ吋र का चयन कर㿽 एव ंिमलाएँ:

    List­I                           List­II

1. Mizoram                        a. Shimla

2. Meghalaya                     b. Hyderabad

3. Andhra Pradesh             c. Shillong

4. Himachal Pradesh          d. Aizawl

    सिूच­I                           सिूच­II

1. िमजोरम                          a. िशमला

2. मघेालय                           b. हदैराबाद

3. आ崟ं嬟옟똟दशे                         c. िशलागं

4. िहमाचल 옟똟दशे                   d. आइजोल

1­c, 2­d, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­d, 2­c, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

Where is the Sea of Rains found? / बा∪舐रश का समुं够借 कहा ँपाया जाता ह?ै

On Moon / चादं पर

On Earth / धरती पर



On Sun / सरूज पर

None of these / इनम㿽 स ेकोई नहीं

Correct Answer :­On Moon / चादं पर 

4)

Question Stimulus :­

Seismograph is used to study the _________./ िसꁐ遐ोꀈाफ़ का 옟똟योग िकस अ�यन म㿽 होता है

Rivers / निदयाँ

Stars / नᜮ怬᠟

Volcanoes / �ालामखुी

Earthquakes / भकूंप

Correct Answer :­Earthquakes / भकूंप 

5)

Question Stimulus :­

Urea is synthesized in the ____________/  य∪ू舐रया का स霆ं阆षेन ­­­­­­­­­­­ म㿽 होता ह।ै

Brain / म戠윆옆鴆鰆

Small Intestine / छोटी आतँ

Heart / 愅夅दय

Liver / यकृत

Correct Answer :­Liver / यकृत 

6)

Question Stimulus :­

Where is Tirupati Balaji Temple located / ित瀰पित बालाजी मिंदर कहा ँ戠倈伈थत है

Andhra Pradesh / आ阀布 옟똟दशे

Telangana / तलेगंाना

Karnataka / कनाἸ쩰टक



None of these / इनम㿽 स ेकोई नहीं

Correct Answer :­Andhra Pradesh / आ阀布 옟똟दशे 

7)

Question Stimulus :­

Arrange the following in decreasing order of size and select the correct answer from the
codes given below :

1. Jupiter

2. Uranus

3. Earth

4. Saturn

/

िनꄁꀁिल戠खत को आकार के अनसुार घटत े漀�म म㿽 퀁켁व戠倈伈थत कर㿽 एव ंनीच ेिदए गए सकंेत स ेसही उ吋र का चयन कर㿽:

1. बहृ⁐ၐित

2. यरूेनस 

3. पृ�ी  

4. शिन

1, 4, 3, 2

4, 1, 2, 3

1, 4, 2, 3

4, 1, 3, 2

Correct Answer :­1, 4, 2, 3 

8)

Question Stimulus :­

Nagarhole National Park is located in which state? /  नागरहोल राꄆꀆ㳻㛻ीय उ�ान िकस रा म㿽 戠倈伈थत ह?ै

Karnataka /  कनाἸ쩰टका

Uttar Pradesh / उ吋र 옟똟दशे

Madhya Pradesh / म�옟똟दशे



Maharashtra / महाराꄆꀆ㳻㛻

Correct Answer :­Karnataka /  कनाἸ쩰टका 

9)

Question Stimulus :­

Which of the following is longest river of Kerala? / केरला की सबसी बड़ी नदी ह?ै

Bharathapuzha / भारतपजूा

Periyar / प∪े舐रयार

Chalakudy / चलाकुडी

Pamba / पꀐ逐ा

Correct Answer :­Periyar / प∪े舐रयार 

10)

Question Stimulus :­

Vinegar, a cooking ingredient consists mainly of ____acid. / िसरका, खाना पकान ेकी सामꀈी म㿽____ अ꼁긁 के घटक
मु 瀰प स ेहोत ेह翾瓾।

Formic acid /  फॉिमἸ쩰क अ꼁긁

Folic acid /  फोिलक अ꼁긁

Nitric acid /  नाइिट㳻㛻क अ꼁긁

Acetic acid /  एिसिटक अ꼁긁

Correct Answer :­Acetic acid /  एिसिटक अ꼁긁 

11)

Question Stimulus :­

Which of the following city is called as Scotland of India? / िनꄁꀁ म㿽 स ेकौन सा शहर भारत के 묆먆ॉटल翾瓾ड के 瀰प म㿽
जाना जाता ह?ै

Kannur / क謀踀रू

Coorg / कूगἸ쩰

Tirupathy / ित퀃ꌃपित



Hubli / 贅褅बली

Correct Answer :­Coorg / कूगἸ쩰 

12)

Question Stimulus :­

Kangaroo is the National Animal of which country / कंगा퀃ꌃ िकस दशे का राꄆꀆ㳻㛻ीय पश ुह?ै

South Africa / दिᜮ怬ण अिꠡ逡का

America / अम∪舐रका

Australia / ऑ씆쐆㳻े㛻िलया

Spain / ⁐ၐने

Correct Answer :­Australia / ऑ씆쐆㳻े㛻िलया 

13)

Question Stimulus :­

CANCELLED

Which of the following countries lead in the production of aluminum and its products in the world? / िनꄁꀁिल戠खत
दशेो ंम㿽 स ेकौन ए영씁िूमिनयम एव ंइसके उ�ादो ंके उ�ादन का िव␅順 म㿽 नते�ृ करती ह?ै

Australia / ऑ씆쐆㳻े㛻िलया

France / �혟ासं

USA / अम∪े舐रका

India / भारत

Correct Answer :­USA / अम∪े舐रका 

14)

Question Stimulus :­

Palghat pass is in between Palghat and  / पालघाट मागἸ쩰 पालघाट एव ंइसके बीच ह:ै

Chittur / िच吋रू

Chandranagar / च够借नगर

Coimbatore / कोयबंटूर



Walayar / वालायार

Correct Answer :­Coimbatore / कोयबंटूर 

15)

Question Stimulus :­

Which country has won the FIFA world cup 2014? / 2014 म㿽 िकस दशे न ेफीफा िव␅順 कप जीता ह?ै

Arjentina / आज⏾﷽टीना

Spain / ⁐ၐने

Brazil / ाज़ील

Germany / जमἸ쩰नी

Correct Answer :­Germany / जमἸ쩰नी 

16)

Question Stimulus :­

Karnam Malleshwari is associated with ? / कनἸ쩰म म切豈␅े順री िकसस ेसबंिंधत ह翾瓾?

Shooting / िनशनबेाजी

Weight Lifting / भारो吋ोलन

Golf / गो鈄⠋फ़

Cricket / ि漀�केट

Correct Answer :­Weight Lifting / भारो吋ोलन 

17)

Question Stimulus :­

In cricket the length of pitch between the two wickets is / ि漀�केट म㿽 दो िवकेट के बीच िपच की लꌁꈁाई होती है

20 yards     / 20 गज

32 yards     / 32 गज

22 yards     / 22 गज

12 yards    / 12 गज



Correct Answer :­22 yards     / 22 गज 

18)

Question Stimulus :­

Which State has won the 2014 ­ 15 Ranaji Trophy / 2014‐15 म㿽 िकस रा न ेरणजी ट㳻㛻ॉफी जीती ह?ै

Uttar Pradesh / उ吋र 옟똟दशे

Karnataka / कनाἸ쩰टक

Mumbai / मुंबई

Tamilnadu / तिमलनाडु

Correct Answer :­Karnataka / कनाἸ쩰टक 

19)

Question Stimulus :­

Who is the founder of Biocon company? / बायोकॉन कंपनी के स倈ं伈थापक कौन ह翾瓾?

Kiran Mazumdar­Shaw / िकरण मजमूदार शॉ

Anil Agarwal / अिनल अꀈवाल

Jemsetji Tata / जमशदेजी टाटा

Lakshi Mittal / ल袧ឧी िम吋ल

Correct Answer :­Kiran Mazumdar­Shaw / िकरण मजमूदार शॉ 

20)

Question Stimulus :­

"Think different" is the tagline of which company/ “ हट के सोचो” िकसा कंपनी का 옟똟चार वा쐥밥 ह?ै

Apple / ए攀쨀ल

TATA / टाटा

Samsung / समैसगं

Sonata / सोनाटा

Correct Answer :­Apple / ए攀쨀ल 



21)

Question Stimulus :­

Which of the following banks has launched “SmartUp” for startups? / िनꄁꀁ म㿽 िकस
 ब翾瓾क न े씆쐆ाटἸ쩰­अप के िलए “ꁐ遐ाटἸ쩰अप” को जारी िकया ह?ै

Punjab National Bank / पजंाब नशेनल ब翾瓾क

State Bank of India/ 씆쐆टे ब翾瓾क ऑफ़ इिंड़या

HDFC Bank/ एच.ड़ी.एफ़.सी ब翾瓾क

Mysore Bank/ मसैरू ब翾瓾क

Correct Answer :­HDFC Bank/ एच.ड़ी.एफ़.सी ब翾瓾क 

22)

Question Stimulus :­

Which of the following is not a search engine? / इनम㿽 स ेयह सचἸ쩰 इजंन नही ंह?ै

Google / गगूल

Yahoo / या퀅鄅

Bing / िबगं

Orkut /ऑकुἸ쩰ट

Correct Answer :­Orkut /ऑकुἸ쩰ट 

23)

Question Stimulus :­

Find the odd one out. / िनꄁꀁ के िवषम चनु㿽।

A.R. Rahman / ए.आर. रहमान

Ilaiyaraaja / इलयैाराजा

S M Gavaskar / एस एम गाव묆먆र

Shankar Mahadevan / शकंर महादवेन

Correct Answer :­S M Gavaskar / एस एम गाव묆먆र 

24)



Question Stimulus :­

India and Switzerland have recently signed an MoU to start cooperation in ____________? / भारत और 戠�टज़्रल翾瓾ड ने
हाल ही म㿽 िकस ᜮ怬᠟े म㿽 सहयोग 옟똟ार꜁ꘁ करन ेके िलए समझौता ㏞䃞ापन पर ह윆옆ाᜮ怬र िकए ह翾瓾?

Skill Information /  कौशल सचूना

Skill development / कौशल िवकास

Job Opportunity /  नौकरी के अवसर

None of the above / उपरो┠� म㿽 स ेकोई नहीं

Correct Answer :­Skill development / कौशल िवकास 

25)

Question Stimulus :­

Who was the first Indian woman Awardee of ‘Bharat Ratna’? / ‘‘भारत र�’’ परु묆먆ार 옟똟ा관였 करन ेवाली 옟똟थम
भारतीय मिहला कौन थी?ं

Sushma Swaraj / सषुमा �राज

Indira Gandhi / इ戠�रा गाधँी

Sarojini Naidu / सरोिजनी नायडू

Pratima Puri / 옟똟ितमा परुी

Correct Answer :­Indira Gandhi / इ戠�रा गाधँी 

26)

Question Stimulus :­

Which is the smallest continent in the world? / ससंार का सबस ेछोटा महा쀋븋ीप कौन ह?ै

Australia / ऑ씆쐆㳻े㛻िलया

Europe / यरूोप

Antarctica / अटंाकἸ쩰िटका

Africa / अ�혟ीका

Correct Answer :­Australia / ऑ씆쐆㳻े㛻िलया 

27)



Question Stimulus :­

Which famous Indian personality is associated and globally recognized with Opera? / कौन सा 옟똟िस� भारतीय
퀁켁戠┠�� ओपरेा स ेजड़ुा ह ैऔर िव␅順 윆옆र पर पहचाना गया ह?ै

MS Subbulakshmi / एमएस स缀ुꄀल袧ឧी

Sonu Nigam / सोन ूिनगम

Bombay Jayshree /  बॉꌁꈁ ेजय樠帠ी

Zubin Mehta / जिुबन महेता

Correct Answer :­Zubin Mehta / जिुबन महेता 

28)

Question Stimulus :­

Who was the longest serving Prime Minister of India? / भारत के सबस ेलबं ेसमय तक सवेारत 옟똟धानम᠟ंी कौन थ?े

Pandit Jawaharlal Nehru  / पिंडत जवाहरलाल नहे瀰

Indira Gandhi / इिंदरा गाधँी

Atal Bihari Vajpayee / अटल िबहारी वाजपयेी

Rajiv Gandhi / राजीव गाधँी

Correct Answer :­Pandit Jawaharlal Nehru  / पिंडत जवाहरलाल नहे瀰 

29)

Question Stimulus :­

Which is the coldest planet in solar system? / सौर मडंल का सबस ेठंडा ꀈह कौन ह?ै

Mercury / बधु

Venus / श漀ु�

Earth / पृ�ी

Neptune / न넇े뀇礔नू

Correct Answer :­Neptune / न넇े뀇礔नू 

30)

Question Stimulus :­



Which of the following is known as the ‘energy capital’ of Madhya Pradesh? /  िनꄁꀁ म㿽 स ेकौन,
म� 옟똟दशे की 'ऊजाἸ쩰 राजधानी'  के 瀰प म㿽 जाना जाता ह?ै

Bhopal / भोपाल

Singrauli / िसगंरौली

Jabalpur / जबलपरु

Indore / इदंौर

Correct Answer :­Singrauli / िसगंरौली 

31)

Question Stimulus :­

Which State in India, has given the highest number of Prime Ministers? / भारत म㿽 िकस रा न ेसबस ेअिधक
옟똟धानम᠟ंी िदया ह?ै

Bihar / िबहार

Maharashtra / महाराꄆꀆ㳻㛻

Gujarat / गजुरात

Uttar Pradesh / उ吋र 옟똟दशे

Correct Answer :­Uttar Pradesh / उ吋र 옟똟दशे 

32)

Question Stimulus :­

When was Swachh Bharat Mission launched by Shri.Narendra Modi? /  樠帠ी नर㿽够借
मोदी 쀋븋ारा �埬� भारत आिभयान की श퀃ुꌃआत कब 贅褅ई थी?

4th October 2014 / 4 अ搢怢बर 2014

2nd October 2014 / 2 अ搢怢बर 2014

5th October 2014 / 5अ搢怢बर 2014

22nd October 2014 / 22अ搢怢बर 2014

Correct Answer :­2nd October 2014 / 2 अ搢怢बर 2014 

33)

Question Stimulus :­



When did Delhi become the capital of India? / िद切豈ी भारत की राजधानी कब 贅褅ई?

1911

1931

1916

None of the above / इनम㿽 स ेकोई नहीं

Correct Answer :­1911 

34)

Question Stimulus :­

Who is known as “Iron Man of India”? / “भारत का लौह प퀃ुꌃष" िकस ेकहा जाता ह?ै

Dr. Rajendra Prasad / डॉ. राज踍े 옟똟साद

Lal Bahadur Shastri / लाल बहादरु शा쬆쨆ी

Sardar Vallabhbhai Patel / सरदार व切豈भाई पटले

Lala Lajpat Rai / लाला लाजपत राय

Correct Answer :­Sardar Vallabhbhai Patel / सरदार व切豈भाई पटले 

35)

Question Stimulus :­

In which year was "Azad Hind Fauj" formed? / “आज़ाद िहदं फ़ौज” की 倈伈थापना िकस वषἸ쩰 म㿽 की गई थी?

January 1942 / जनवरी 1942

August 1942 / अग윆옆 1942

September 1942 / िसतꌁꈁर 1942

November 1942 / नवꌁꈁर 1942

Correct Answer :­August 1942 / अग윆옆 1942 

36)

Question Stimulus :­

Headquarters of Southern railways is located in ____.  / दिᜮ怬णी रेलव ेका मुालय ­­­­­­­­­­­­­­ म㿽
戠倈伈थत है



Panaji / पणजी

Pune / पणुे

Chennai / च謀े踀ई

Madurai / मदरुई

Correct Answer :­Chennai / च謀े踀ई 

37)

Question Stimulus :­

Who among the following was honored with C. K.Naidu Lifetime Achievement Award 2015 / िनꄁꀁिल戠खत म㿽 से
कौन ‘सी.के.नायडू लाईफटाईम अचीवम㿽ट अवाडἸ쩰 2015’ स ेसꬁꨁािनत िकए गए

Sachin Tendulkar / सिचन त㿽दलुकर

Kapil Dev / किपल दवे

Syed Kirmani / स딁ै됁द िकरमानी

Anil Kumble / अिनल कुंबले

Correct Answer :­Syed Kirmani / स딁ै됁द िकरमानी 

38)

Question Stimulus :­

Which country's parliament is called “Diet”? / िकस दशे का ससंद “डाइट” कहलाता ह?ै

Japan / जापान

Italy / इटली

Germany / जमἸ쩰नी

Brazil / ाज़ील

Correct Answer :­Japan / जापान 

39)

Question Stimulus :­

“Oscar awards” is given for best performance in which field? / िकस ᜮ怬᠟े म㿽 उ謀踀त िन괆갆ादन हते ु“ऑ묆먆र परु묆먆ार”
िदया जाता ह?ै



Literature / सािह옋�

Sports / खले

Cinema / िसनमेा

Social activities / सामािजक गितिविधयाँ

Correct Answer :­Cinema / िसनमेा 

40)

Question Stimulus :­

Who is called the ‘Father of Indian Cinema’? / कौन 'भारतीय िसनमेा का जनक" कहा जाता ह?ै

Raj Kapoor / राज कपरू

Rajesh Khanna / राजशे ख謀踀ा

Dilip Kumar / दीिलप कुमार

Dada Saheb Phalke / दादा साहबे फा뜁똁

Correct Answer :­Dada Saheb Phalke / दादा साहबे फा뜁똁 

41)

Question Stimulus :­

In which of these countries was television introduced in 1999/ िनꄁꀁ म㿽 स ेकौन स ेदशे म㿽 1999 म㿽 टलेीिवज़न को पशे
िकया गया

USA / यएूसए

UAE / यएूई

Bhutan / भटूान

Bangladesh / बाẰंسादशे

Correct Answer :­Bhutan / भटूान 

42)

Question Stimulus :­

India’s first Green Rail Corridor was launched in _____. / भारत म㿽 पहल ेꀈीन रेल कॉ∪舐रडोर का आरंभ ……………..
म㿽 िकया गया।



Tamil Nadu / तिमलनाडु

Karnataka / कनाἸ쩰टक

Madhya Pradesh / म� य 옟똟दशे

Gujarat / गजुरात

Correct Answer :­Tamil Nadu / तिमलनाड ु

43)

Question Stimulus :­

Who won the 2016 Hungarian Grand Prix F1? / 2016 म㿽 हगं∪舐रयन ꀈ翾瓾ड ि옟똟㻻㣻 एफ1 िकसन ेजीता?

Nico Roseburg / िनको रोसबगἸ쩰

Lewis Hamilton / लईुस हिैमሁन

Daniel Ricardo  / डिेनयल ∪舐रकाड

Sebastian Vettel / सबेे戠씆쐆यन व뫞े�ल

Correct Answer :­Lewis Hamilton / लईुस हिैमሁन 

44)

Question Stimulus :­

Who has been appointed as the Deputy Comptroller and Auditor General ( CAG)? / कौन उप िनय᠟ंक एव ंमहालखेा
परीᜮ怬क (कैग) के 瀰प म㿽 िनय┠ु� िकया गया ह?ै

Hindupur Pradeep Rao  /  िह�दुपरु 옟똟दीप  राव

V. K. Shunglu  /  वी.के. शुंगलू

VN Kaul  /  वीएन कौल

Vinod Rai  /  िवनोद राय

Correct Answer :­Hindupur Pradeep Rao  /  िह�दुपरु 옟똟दीप  राव 

45)

Question Stimulus :­

UNESCO stands for_________. / UNESCO का अथἸ쩰 ___________ ह।ै



United Naĕons Educaĕonal Scienĕfic and Cultural Organisaĕon

United Naĕonal Educaĕonal Scienĕfic and Cultural Organisaĕon

United Naĕons Educaĕonal Science and Commercial Organisaĕon

United Naĕons Economic Scienĕfic and Cultural Organisaĕon

Correct Answer :­United Naĕons Educaĕonal Scienĕfic and Cultural Organisaĕon 

46)

Question Stimulus :­

The World Ozone Layer Preservation day (Ozone Diwas) is celebrated on / दी व묁ᐁἸ쩰 ओज़ोन
ि옟똟जवशन  ड े(ओज़ोन िदवस ) मनाया जाता है̀

April 16 / अ옟똟लै 16

June 16 / जनू 16

August 16 / अग윆옆 16

September 16 / िसतबरं16

Correct Answer :­September 16 / िसतबरं 16

47)

Question Stimulus :­

Marathas took power of Madhya Pradesh after the death of  /  म� य 옟똟दशे म㿽 िकसकी
म鴇ृ鰇 य ुके बाद मराठाओ ंन ेअिधकार 옟똟ा넇뀇 त कर िलया?

Asoka /  अशोक

Kanishka / किन鴆鰆

Aurangzeb / औरंगजबे

Harsha vardhan / हषἸ쩰वधἸ쩰न

Correct Answer :­Aurangzeb / औरंगजबे 

48)

Question Stimulus :­

It is easier to irrigate in Black soil since it is clayey and it has moisture retention capacity.
This soil must have been formed in Madhya Pradesh because of   / काली िम뫞�ी िसचंाई के िलए



आसान ह,ै 쐥밥ोिंक इसम㿽 नमी बनाए रखन ेकी ᜮ怬मता ह।ै यह म� 옟똟दशे म㿽 इस िलए पाई जाती ह ै쐥밥ोिंक

Parent rock which is sedimentary / जनक शलै ह ै, जोअवसादी है

Igneous rocks formed due to volcanic eruptions  /逇輇 वालामखुी िव倈伈 फोट के कारण बनी आ蠇蜇 नशे शलै

Gully and soil erosion forming clay and silt  /गली और िम뫞�ी के कटाव के गठन स े उ�謀踀 िम뫞�ी और
गाद

Degradation of soil and deforestation  /िम뫞�ी और वनो ंकी कटाई के चलते

Correct Answer :­Igneous rocks formed due to volcanic eruptions  /逇輇 वालामखुी िव倈伈 फोट के कारण बनी आ蠇蜇 नशे
शलै 

49)

Question Stimulus :­

In which district of Madhya Pradesh is ‘Omkareshwar temple’ situated? / म� 옟똟दशे के िकस िजल ेम㿽 'ओकंारे␅順र
मिंदर' 戠倈伈थत ह?ै

Mandsaur district / मदंसौर िजला

Khandwa district / खडंवा िजला

Ujjain district / उ诞नै िजला

Jabalpur district /  जबलपरु िजला

Correct Answer :­Khandwa district / खडंवा िजला 

50)

Question Stimulus :­

RajyaSabha member  and bollywood actress born in Jabalpur is / जबलपरु म㿽 जी
रासभा सद팆툆 और बॉलीवडु अिभन᠟ेी ह翾瓾

Jaya Bachchan / जया ब㣬럠न

Nargis / निगἸ쩰स

Hema Malini / हमेा मािलनी

Rekha Ganesan / रेखा गणशेन

Correct Answer :­Jaya Bachchan / जया ब㣬럠न 

51)



Question Stimulus :­

Find the product of 0.593 and100. / 0.593 और 100 का गणुनफल िनकािलए।

593.00

59.30

5.93

0.59300

Correct Answer :­59.30 

52)

Question Stimulus :­

The product of three integers is ­800. If two of them are ­20 and ­4, the third
integer is _____.  /  तीन पणूा䇻㻻को का गणुनफल ­800 ह।ै  यिद उनम㿽 स ेदो ­20 और ­4 ह翾瓾, तो
तीसरा पणूा䇻㻻क है

­10

10

100

­100

Correct Answer :­­10 

53)

Question Stimulus :­

The sum of p2­ q2­2, q2 ­2 ­p2 and 2­  p2 + q2 is / p2­ q2­2, q2 ­2 ­p2 और 2­  p2 + q2 का योग है

2P2+2q2

0

­4

­p2   + q2 ­ 2

Correct Answer :­­p2   + q2 ­ 2 

54)



Question Stimulus :­

A (3,8), B (3,4), C (­9, 4), D (­9, 8) were plotted the figure obtained would be
__________ and lie in the _____________   / A (3,8), B (3,4), C (­9, 4), D (­9, 8) को
आले戠खत िकया गया। 옟똟ा관였 आकृित_____________होगी और____________ म㿽 戠倈伈थत होगी

Rectangle, I and II / आयत, I और II

Square, I and II / वगἸ쩰, I और II

Rhombus I, and II / समचतभुἸु쩰ज, I और II

Trapezium I and II / समलबं, I और II

Correct Answer :­Rectangle, I and II / आयत, I और II 

55)

Question Stimulus :­

For a sphere, “Euler Characteristic or Property is _______________ / एक गोलक के िलय,े “ऑयलर अिभलᜮ怬ण या
गणुधमἸ쩰” है

1

2

3

4

Correct Answer :­2 

56)

Question Stimulus :­

A rectangular metal sheet of 22×14 m is converted into a hollow pipe. If the length of the
pipe is 14m, what would be its radius? / एक 22×14 मी की आयताकार धात ुशीट को खोखल ेपाइप म㿽
प∪舐रवितἸ쩰त कर िदया गया। यिद पाइप की लꌁꈁाई 14 मी ह,ै तो उसकी ि᠟ा 쐥밥ा होगी?

7m

11m

14 m

3.5m



Correct Answer :­3.5m 

57)

Question Stimulus :­

A restaurant charges 14%service charge and 11% VAT on the basic price of the food items. If the basic price of your
meals is Rs.4000, how much do you have to pay to clear your bill? /  एक भोजनालय 14옟똟ितशत सवेा चाजἸ쩰 लगाता ह ैऔर
 11 옟똟ितशतVAT खान ेकी आईटम के आधा∪舐रक म영ू씁 पर लगाता ह।ैयिद आपकी मील का आधा∪舐रक म영ू씁 瀰 4000ह,ै तो
आपको अपना िबल चकुान ेके िलय ेिकतन ेपसै ेदने ेहोगं?े

Rs.1000 / 瀰 1000

Rs.4250 / 瀰 4250

Rs.4025 / 瀰 4025

Rs.5000 / 瀰 5000

Correct Answer :­Rs.5000 / 瀰 5000 

58)

Question Stimulus :­

Using the digits 1,2,3 and 4 without repeating them, we can form 24 three digit numbers. 
The probability of getting numbers with the digit 4 in hundreds place and the digit 2 in
tens place is _______  /    िबना दोहराय े1,2,3 और 4 अकंो ंका इ윆옆मेाल करके,हम 24 तीन अकंो ंवाली संाय㿽
बना सकत ेह翾瓾। 옟똟ाियकता िनकािलय ेिक हडं㳻㛻डस् 昀से पर अकं 4 हो और ट㿽स 昀से पर अकं 2 हो

1/4 , 25%

1/2,  50%

1/3 , 331/3%   (thirty three one third)

1/5 , 20%

Correct Answer :­1/4 , 25% 

59)

Question Stimulus :­



Which of the following matches the top/base view of the prism given above? / िनꄁꀁ म㿽 स ेकौन ऊपर िदय ेगय ेि옟똟师崈म के
िशखर/पीठ स ेमले कौन करत ेह翾瓾?

Correct Answer :­  

60)

Question Stimulus :­

Which is a prism among the following? / िनꄁꀁ म㿽 स ेि옟똟师崈म कौन सा ह?ै



Correct Answer :­  

61)

Question Stimulus :­

The instrument used for measuring wind speed is / वाय ुकी गित को मापन ेके िलए िकस
उपकरण का 옟똟योग िकया जाता है

Barometer / वायदुाबमापी

Hygrometer / आ够借ताἸ쩰मापी

Anemometer / पवनवगेमापी

Hydrometer / उ騋簋व घन�मापी

Correct Answer :­Anemometer / पवनवगेमापी 

62)

Question Stimulus :­

Fe+ H2O______________Fe3O4+  H2

 

To balance the equation given above ,the  stoichiometric numbers to be placed in front of
the reactants and products respectively are,/ 

 

Fe+ H2O______________Fe3O4+  H2

 

ऊपर दी गयी समीकरण को सतंिुलत करन ेके िलए , िजन 씆쐆ॉइिकयोिमट㳻㛻ी  संाओ ंको 漀�मशः अिभकारको ंऔर उ�ादो ंके
सामन ेरखा जायगा

3,4,1,4

3,1,4,1

1,4,3,4



4,3,1,4

Correct Answer :­3,4,1,4 

63)

Question Stimulus :­

Which of the following statements is WRONG? / िनꄁꀁ म㿽 स ेकौन सा कथन गलत ह?ै

Lightning and thunder occur almost simultaneously / िबजली और गरज लगभग एक साथ होत ेह翾瓾

During lightning, it is not safe to be inside a car with a metallic top / िबजली चमकन ेके दौरान, धा戠�क िशखर
वाली कार के भीतर रहना सरुिᜮ怬त नही ंहै

Charge transfer can take place only as integral multiples of  the
charge possessed by an electron / आवशे अनिुच᠟ण केवल इल搢े怢㳻㛻ॉन म㿽 आिवꄆꀆ
आवशे के पणूा䇻㻻कीय ब贅褅गणुो ंके 瀰प म㿽 हो सकता है

Atmosphere contains charges / वातावरण म㿽 आवशे होत ेह翾瓾

Correct Answer :­During lightning, it is not safe to be inside a car with a metallic top / िबजली चमकन ेके
दौरान, धा戠�क िशखर वाली कार के भीतर रहना सरुिᜮ怬त नही ंह ै

64)

Question Stimulus :­

The effect of sting of an ant can be neutralized by rubbing the area with  / चीटंी के डकं के 옟똟भाव
को उस ᜮ怬᠟े पर ____________ रगड़न ेस ेिन꼆긆भावी िकया जा सकता ह।ै

Soap powder /  सोप पाउडर

Washing soda / वािशगं सोडा

Epsom salt / ए最म लवण

Common salt / साधारण लवण

Correct Answer :­Washing soda / वािशगं सोडा 

65)

Question Stimulus :­

The acid secreted  when an ant  stings  is / जब एक चीटंी काटती ह ैतब _____________ अ꼁긁 ꀠािवत
होता ह।ै

Aceĕc acid / एसीिटक अ꼁긁



Sulphuric acid / स鈄⠋洀欀∪舐रक अ꼁긁

Formic acid /  फॉिमἸ쩰क अ꼁긁

Ethanoic acid / ईथनेोइक अ꼁긁

Correct Answer :­Formic acid /  फॉिमἸ쩰क अ꼁긁 

66)

Question Stimulus :­

An arĕcle made of metal ‘X’ acquires a blackish ĕnge on exposure to air a├er a few days. The metal ‘X’ is / ‘X’ धात ुसे
बनी व倈伈 त ुको वाय ुके सपंकἸ쩰 म㿽 लान ेके कुछ िदन बाद उसका रंग ह鈄⠋ का काला हो जाता ह,ै वह धात ुहै

Gold / सोना

Silver / चादंी

Aluminium  / ए영씁िुमिनयम

Iron / लोहा

Correct Answer :­Silver / चादंी 

67)

Question Stimulus :­

Which of the following has the highest water potential? / िनꄁꀁ म㿽 स ेजल ᜮ怬मता िकसकी अिधकतम ह?ै

Pure water / श�ु जल

5% glucose solution / 5% Ằسकूोज़ िवलयन

10% glucose solution / 10% Ằسकूोज़ िवलयन

15% glucose solution / 15% Ằسकूोज़ िवलयन

Correct Answer :­Pure water / श�ु जल 

68)

Question Stimulus :­

Cone cells are found in the ____________ / शकंु कोिशकाएं ____________ म㿽 पायी जाती ह翾瓾

Retina / रेिटना

Choroid / कोरॉइड



Sclera / 倈伈켥쨥रेा

Iris / आइ∪舐रस

Correct Answer :­Retina / रेिटना 

69)

Question Stimulus :­

In animals glycogen is stored in the_________  / पशओु ंम㿽 Ằسाइकोजन______ म㿽 संꀈिहत होता है

The liver and muscles / यकृत और मासंपिेशयां

The muscles and beneath the skin / मासंपिेशया ंऔर �चा के नीचे

The liver and kidneys / यकृत और वᄢृ༢

Beneath the skin and kidneys / �चा के नीच ेऔर वᄢृ༢

Correct Answer :­The liver and muscles / यकृत और मासंपिेशया ं

70)

Question Stimulus :­

Genetic engineering involves the transfer of ________ from an organism to another organism. / आनवुिंशक
अिभयािं᠟की म㿽 एक जीव स ेदूसरे जीव म㿽 ­_______ का अतंरण होता ह।ै

Protein / 옟똟ोटीन

chromosome / गणुस᠟ू

cell / कोिशका

DNA / डीएनए

Correct Answer :­DNA / डीएनए 

71)

Question Stimulus :­

If the ratio of 5 and 3 is same as the ratio of 3k – l to k+4l, find the value of  . / यिद 5 एव ं3

का अनपुात 3k – l स ेk+4l के अनपुात के समान ह,ै तो   का मान ㏞䃞ात कर㿽।



Correct Answer :­  

72)

Question Stimulus :­

The average of first seven multiples of 25 is : / 25 के पहल ेसात गणुको ंका औसत ह:ै

125

150

75

100

Correct Answer :­100 

73)

Question Stimulus :­

The total age of Ram and Sam is 12 years more than the total age of Sam and Tom. Tom is how many years
younger than Ram? / राम और समै की कुल आय,ु समै और टॉम की कुल आय ुस े12 वषἸ쩰 अिधक ह।ै राम स ेटॉम िकतना
छोटा ह?ै

6

10

12

15

Correct Answer :­12 

74)



Question Stimulus :­

Shalu’s father was 38 years of age when she was born while her mother was 36 years old when her brother four
years younger to her was born. What is the difference between the ages of her parents? / जब शाल ूका ज 贅褅आ
था तब उसके िपता की आय ु38 वषἸ쩰 थी, जबिक उसस ेचार वषἸ쩰 छोट ेभाई के ज के समय उसकी मा ँकी आय ु36 वषἸ쩰 थी।
उसके माता­िपता की आय ुके बीच िकतना अतंर ह?ै

2 years / 2वषἸ쩰

4 years / 4वषἸ쩰

5 years / 5 वषἸ쩰

6 years / 6 वषἸ쩰

Correct Answer :­6 years / 6 वषἸ쩰 

75)

Question Stimulus :­

6/5th of 50 is 50 / का 6/5वा ँह:ै

50

40

60

70

Correct Answer :­60 

76)

Question Stimulus :­

Three Fourth of 800 is how much greater than Two Tenth of 900? 800 / का तीन चौथाई 900 ,के दो दसव㿽 स ेिकतना बड़ा
ह?ै

400

420

380

320

Correct Answer :­420 



77)

Question Stimulus :­

Fill in the missing alphabets / ल관ु였 अᜮ怬र भ∪舐रए

ab__b__aa__b__ba

a, a, a, a

b, b, b, b

a, b, a, a

b, a, a, a

Correct Answer :­b, b, b, b 

78)

Question Stimulus :­

A person purchased a bike for Rs. 50,440 including sales tax. If the rate of the sales tax is 4%, find the original cost of
the bike. / एक 퀁켁戠┠� िब漀�ी कर सिहत एक मोटर साइिकल 50,440 퀃ꌃपय ेम㿽 खरीदता ह।ै यिद िब漀�ी कर की दर 4% ह,ै तो
मोटर साइिकल की मलू लागत ㏞䃞ात कर㿽

Rs.48,000

Rs.49,000

Rs.48,500

Rs.49,500

Correct Answer :­Rs.48,500 

79)

Question Stimulus :­

30% of 600 is 600 / का  30%ह:ै

185

190

180

195



Correct Answer :­180 

80)

Question Stimulus :­

A car moves at a speed of 45 kmph, and reaches its destination on time. When its average speed becomes 40
kmph, then it reaches the destination 30 minutes late. Find the distance travelled by the car. / एक कार 45 िकमी
옟똟ितघटंा की गित स ेचलती ह ैतथा अपन ेगतं퀁켁 पर समय पर प贅褅चँती ह।ै जब उसकी औसत गित 40 िकमी 옟똟ितघटंा हो जाती है
तब वह गतं퀁켁 पर 30 िमनट की दरेी स ेप贅褅चँती ह।ै कार 쀋븋ारा तय की गई दूरी का पता लगाएं।

200 km / िकमी

240 km / िकमी

180 km / िकमी

150 km / िकमी

Correct Answer :­180 km / िकमी 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / िनꄁꀁ चार पतो ंम㿽 स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Beauty Mountain Whitewater Trippers, Inc.

General Delivery

Edmond, West Virginia 25837

(304) 574­0211

 

(i)     Beauty Mountain Whitewater Trippers, Inc.

General Delivery

Edmond, West Virginia 25837

(304) 574­0211

 

(ii)    Beauty Mountain Whitewater Trippers, Inc.

General Delivery



Edmond, West Virginia 25837

(304) 574­0211

 

(iii)   Beauty Mountain Whitewater Trippers, Inc.

General Delivery

Edmond, West Virginia 25837

(304) 574­0211

 

(iv)   Beauty Mountain Whitewater Trippers, Inc.

General Deliver

Edmond, West Virginia 25837

        (304) 574­0211

i

ii

iii

iv

Correct Answer :­iv 

82)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify
the incorrect combination: / नीच ेदी गई 樠帠खंला म㿽 अᜮ怬रो ंऔर संाओ ंका 漀�म स戠ꬁꨁिलत ह।ै
गलत सयंोजन पहचािनए:

 

i. hj1t4x7t2vuwa               ii. hj1t4x7t2vuwa   

iii. hj1t4x7t2vuwa            iv. hj1t4x7t2uvwa

i

ii



iii

iv

Correct Answer :­iv 

83)

Question Stimulus :­

At what price should a T.V costing Rs. 17,000 be sold for getting 8% profit? / एक टीवी पर 8% लाभ पान ेके िलए 瀰पये
17000 म영ू씁 के टीवी को िकस कीमत पर बचेना चािहए?

Rs. 21,000 / 瀰पय े 21,000

Rs. 20,000 / 瀰पय े 20,000

Rs. 19,000  / 瀰पय े19,000

Rs. 18,360 / 瀰पय े18,360

Correct Answer :­Rs. 18,360 / 瀰पय े18,360 

84)

Question Stimulus :­

Find the next term in the series  12,24,42,…………….. /樠帠खंला म㿽 अगला पद ㏞䃞ात कीिजए
12,24,42,……………..

66

74

84

94

Correct Answer :­66 

85)

Question Stimulus :­

Find the next term in the series  4,6,12,14,28,30,…………… / 樠帠खंला म㿽 अगला पद ㏞䃞ात
कीिजए 4,6,12,14,28,30,……………

32

64



62

60

Correct Answer :­60 

86)

Question Stimulus :­

Sita says, “Rama’s father is my father‐in‐law.” How is Rama related to Sita? / सीता कहती ह,ै “राम के िपता मरेे ससरु ह翾瓾।”
राम सीता स ेकैस ेसबंिंधत ह?ै

Father / िपता

Husband / पित

Grandfather / दादा

Nephew / भतीजा

Correct Answer :­Husband / पित 

87)

Question Stimulus :­

Question is based on an encryption system in which: / 옟똟輆踆 एक ए戠�漀�पशन 옟똟णाली पर आधा∪舐रत है
िजसम㿽:

(1) ‘La Pit Ta’ means ‘Mango is sweet’ / ‘La Pit Ta’ का मतलब ह ै‘Mango is sweet’

(2) ‘Na Sa Pit’ means ‘Mango and Banana’ / ‘Na Sa Pit’ का मतलब ह ै‘Mango and Banana’

(3) ‘Ba Ta Tik’ means ‘Boy is Wise’ / ‘Ba Ta Tik’ का मतलब ह ै‘Boy is Wise’

How would ‘Boy Likes Mango’ be coded? / ‘Boy Likes Mango’ को कैस ेकोिडत िकया जायगेा?

‘Na Ta Jun’

‘Na Pit Jun’

‘Ba Ta Jun’

‘Ba Pit Jun’

Correct Answer :­‘Ba Pit Jun’ 

88)

Question Stimulus :­



In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय े漀�म म㿽 अगली आकृित कौन सी होगी?

Correct Answer :­  

89)

Question Stimulus :­

A + B means A is the father of B / A + B का अथἸ쩰 ह ैA, B के िपता ह翾瓾

A ­ B means A is the mother of B / A – B का अथἸ쩰 ह ैA, B की माता है

A x B means A is the brother of B / A x B का अथἸ쩰 ह ैA, B का भाई है

A / B means A is the sister of B / A / B का अथἸ쩰 ह ैA, B की बहन है



A ! B means A is the son of B / A ! B का अथἸ쩰 ह ैA, B का भाई है

A $ B means A is the daughter of B / A $ B का अथἸ쩰 ह ै A, B की बटेी ह ै

 

In which of the following cases, A is the niece of C? /  िनꄁꀁ म㿽 कौन स ेकेसो ंम㿽, A, C की भतीजी ह?ै

A $ B x C

A ! B x C

A x B x C

A ! B ! C

Correct Answer :­A $ B x C 

90)

Question Stimulus :­

If A + B means A is the father of B; A ­ B means A is the sister of B; A / B means A is the mother of B and A * B
means A is the brother of B, which of the following shows that M is the paternal uncle of N? / यिद A + B का मतलब है
िक A, B का िपता ह;ै A ­ B का मतलब ह ैिक A, B की बहन ह;ै A / B का मतलब ह ैिक A, B की माता ह ैऔर A * B का
मतलब ह ैिक A, B का भाई ह,ै िनꄁꀁ म㿽 स ेकौन सा िदखाता ह ैिक M, N के चाचा ह翾瓾?

M ­ P + Q * N

M * P + Q ­ N

 N ­ P + M

N * P

Correct Answer :­M * P + Q ­ N 

91)

Question Stimulus :­

Which of the following is the mirror image of COLLATE? / िनꄁꀁ म㿽 स ेकौन सा COLLATE का दपἸ쩰ण 옟똟ितिबꌁꈁ ह?ै



Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िनꄁꀁ 옟똟輆踆 म㿽, पहल ेश砀 का दूसरे श砀 के साथ िकसी 옟똟कार स ेकोई सबंधं ह।ै यिद तीसरे श砀 का चौथ ेश砀 के
साथ उसी 옟똟कार का सबंधं होना चािहए, तो चौथा श砀 होगा:

Cricket: Bat  :: Tennis : ? / ि漀�केट : ब切豈ा :: टिेनस : ?

Ball / ग㿽द

Racket / रैकेट

Court / कोटἸ쩰

So├ / सॉ팀툀

Correct Answer :­Racket / रैकेट 

93)

Question Stimulus :­

In how many ways can the letters of the word MARRIAGE be arranged to form a 8­letter word? / MARRIAGE
श砀 के अᜮ怬रो ंको िकतन े옟똟कार म㿽 퀁켁व戠倈伈थत कर सकत ेह翾瓾 िजसस ेिक एक 8 अᜮ怬रो ंके श砀 का िनमाἸ쩰ण िकया जा सके?

10080

20160

5040

15120

Correct Answer :­10080 

94)

Question Stimulus :­

In a row of 16 boys, when Girish was shifted by two places to the left, he became 7th from
the left end. What was his earlier position from the right? / एक 16 लड़को ंकी पं戠┠� म㿽, जब िगरीश
को बायी ंओर दो 倈伈थान 옟똟ित倈伈थािपत िकया गया, तो वह बाय㿽 िसरे स े7वा ँबन गया। दायी ंओर स ेउसकी पहली 戠倈伈थित 쐥밥ा थी?



6th

8th

10th

11th

Correct Answer :­8th 

95)

Question Stimulus :­

A doctor plans to visit 6 hospitals A, B, C, D, E, and F exactly once during the course of the
day on the following conditions: / एक डॉ搢怢र 6 अ⁐ၐतालो ंA, B, C, D, E, और F म㿽 एक परूे िदन म㿽 ठीक
एक बार जान ेकी योजना बनाता ह,ै िनꄁꀁ अव倈伈थाओ ंके अनसुार:

1. He visits B before D / वह D स ेपहल ेB म㿽 जाता है

2. He visits A before B and E / वह B और E स ेपहल ेA म㿽 जाता है

3. He must visit C thirdly / उस ेC म㿽 तीसरे नबंर पर जाना चािहए

If he visits F first, then which hospital should the doctor visit second? / यिद वह पहल ेF म㿽 जाता
ह,ै तो डॉ搢怢र को दूसरे नबंर पर कौन स ेअ⁐ၐताल म㿽 जाना चािहए?

D

A

E

C

Correct Answer :­A 

96)

Question Stimulus :­

Select the statement which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तकἸ쩰 की ⤇⠇戠謆訆 स ेिदय ेगय ेकथन के समान ह:ै

Apple is a fruit and Rose is a flower / सबे एक फल ह ैऔर गलुाब एक फूल है

It is not true that apple is a fruit or rose is a flower / यह स옋� नही ंह ैिक सबे एक फल ह ैया गलुाब एक फूल है

It is not true that apple is a fruit and rose is a flower / यह स옋� नही ंह ैिक सबे एक फल ह ैऔर गलुाब एक फूल है

Rose is a flower or apple is a fruit / गलुाब एक फूल ह ैया सबे एक फल है



None of the above / उपरो┠� कोई नहीं

Correct Answer :­None of the above / उपरो┠� कोई नही ं

97)

Question Stimulus :­

Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तकἸ쩰 की ⤇⠇戠謆訆 स ेिदय ेगय ेकथन के समान ह:ै

"If the weather breaks, then we can sail." / “यिद मौसम ठीक होता ह,ै तो हम जलया᠟ा कर सकत ेह翾瓾।”

We can sail if the weather doesn't break. / हम जलया᠟ा कर सकत ेह翾瓾 यिद मौसम न ठीक हो।

We cannot sail if the weather doesn't break. / हम जलया᠟ा नही ंकर सकत ेयिद मौसम न ठीक हो।

The weather doesn't break or we sail. / या तो मौसम ठीक नही ंह ैया हम जलया᠟ा करत ेह翾瓾

We can sail or the weather breaks. / हम जलया᠟ा कर सकत ेह翾瓾 या मौसम ठीक होता ह।ै

Correct Answer :­We cannot sail if the weather doesn't break. / हम जलया᠟ा नही ंकर सकत ेयिद मौसम न
ठीक हो। 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक뀀꼀 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鴆鰆ष긂娂 के बारे म㿽 सही ह:ै

Statements: / कथन:

 

All As are B. / सभी A, B ह翾瓾।

Some Bs are D. / कुछ B, D ह翾瓾।

Some As are C. / कुछ A, C ह翾瓾।

Some Es are Bs as well as Ds. / कुछ E, B ह翾瓾 और D भी ह翾瓾।

 

Conclusions: / िन鴆鰆षἸ쩰:

 

i. Some Cs are B. / कुछ C, B ह翾瓾।

ii. Some Es are A. / कुछ E, A ह翾瓾।



If only conclusion I follows / यिद केवल िन鴆鰆षἸ쩰 I िनकलता है

If only conclusion II follows / यिद केवल िन鴆鰆षἸ쩰 II िनकलता है

If both conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II दोनो ंिनकलत ेह翾瓾

If none of the conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II म㿽 स ेकोई नही ंिनकलता है

Correct Answer :­If only conclusion I follows / यिद केवल िन鴆鰆षἸ쩰 I िनकलता ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक뀀꼀 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鴆鰆ष긂娂 के बारे म㿽 सही ह:ै

Statements: / कथन:

 

All As are C. / सभी A, C ह翾瓾।

All Bs are C. / सभी B, C ह翾瓾।

Some Ds are A. / कुछ D, A ह翾瓾।

 

Conclusions: / िन鴆鰆षἸ쩰:

 

i. Some Ds are B. / कुछ D, B ह翾瓾।

ii. All Cs are D. / सभी C, D ह翾瓾।

If only conclusion I follows / यिद केवल िन鴆鰆षἸ쩰 I िनकलता है

If only conclusion II follows / यिद केवल िन鴆鰆षἸ쩰 II िनकलता है

If both conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II दोनो ंिनकलत ेह翾瓾

If none of the conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II म㿽 स ेकोई नही ंिनकलता है

Correct Answer :­If none of the conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II म㿽 स ेकोई नही ंिनकलता ह ै

100)

Question Stimulus :­



Select the option that is true about the Statements and Conclusions given: / वह िवक뀀꼀 चिुनये
जो िदय ेगय ेकथनो ंऔर िन鴆鰆ष긂娂 के बारे म㿽 सही ह:ै

Statements: / कथन:

 

All anchors are chips. / सभी ऋिष टकुड़ ेह翾瓾।

All buckets are chips. / सभी बा戠ሁया ँटकुड़ ेह翾瓾।

Some daffodils are anchors and buckets as well. / कुछ डफैोिडल ऋिष ह翾瓾 और बा戠ሁया ँभी ह翾瓾।

 

Conclusions: / िन鴆鰆षἸ쩰:

 

1. Some anchors are buckets. / कुछ ऋिष बा戠ሁया ँह翾瓾।

Some daffodils are chips. / कुछ डफैोिडल टकुड़ ेह翾瓾।

If only conclusion I follows / यिद केवल िन鴆鰆षἸ쩰 I िनकलता है

If only conclusion II follows / यिद केवल िन鴆鰆षἸ쩰 II िनकलता है

If both conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II दोनो ंिनकलत ेह翾瓾

If none of the conclusion I and II follows / यिद िन鴆鰆षἸ쩰 I और II म㿽 स ेकोई नही ंिनकलता है

Correct Answer :­If only conclusion II follows / यिद केवल िन鴆鰆षἸ쩰 II िनकलता ह ै


